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n M @

d=11] 2= g a M

Ansl = - <10 U

32[0,3} .4={§} h T

L) ) )
T S5t 3™® T T S®
1:[_7_7_ 2:[_7_7_}

6 6 2 6 2
5 3

>
(8]

5
L

N

Il
| —
s 5
L 1

T T 3%
Ans2 = .3:[—,5,

p [nn2n 4t 3w 571}

5:[0, TC] A ) 5 P
L 3’23 3 23
M @
Ans3:['1:[60 1 .2=130 ]}’ Ja M
3=[0] 4=[0] t U
h T
1 =[120°180° 240°] .2=[90° 210° 330°]
Ans4=|.3=[90° 120°, 240°, 270°] 4=[45%]
.5=[0,90° 180°] .6=[0,60° 120° 180°, 240°, 300°]
1 5 1 5
.]:[—n+2nn,—n+2nn} .2=[—n+nn,—n+nn}
6 6 6 6

Ans3 = 1 5 1 5
.3=[2nn,—n+2nn,n+2nn,zn+2nn} .4=[gn+nn,gn+nn}

)G BT ISHE RNV 0N I 9:9:9.9:9.0.0.9.0.9.9.9.9.9.0:0:0:0:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0.0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.0.0.9.0.0.04




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXXKXKKXKKXKKXXKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /1-6800306-00041XX

TrigonometryExercise6 Answers for No.15024
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TrigonometryExercise6 Answers for No.15032
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